



\$0.00

\$0.00

St. Louis County, Minnesota

Date of Report: 12/20/2025 6:52:52 AM

		General Details				
Parcel ID:	510-0020-05135					
		Legal Description De	tails			
Plat Name:						
Section	Town	ship Range		Lot	Block	
33	66	5 17		-	-	
Description:	SE 1/4 OF SE 1/4	4 LYING E OF COUNTY HWY NO 2	4 AND EX 5 AC	IN NW COR		
		Taxpayer Details				
Taxpayer Name	TODAY BENJAM	IN				
and Address:	PO BOX 141				ļ	
	BUHL MN 55713	3				
		Owner Details				
Owner Name	DANIELS RANDA	ALL R ETUX				
		Payable 2025 Tax Sum	mary			
	2025 - Net Ta	ax	\$2,797.00			
	2025 - Specia	al Assessments	\$85.00			
	2025 - Tota	al Tax & Special Assessme	nts	\$2,882.00		
		Current Tax Due (as of 12	/19/2025)			
Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,441.00	2025 - 2nd Half Tax	\$1,441.00	2025 - 1st Half Tax Due	\$0.00	

Parcel Details

\$1,441.00

\$0.00

2025 - 2nd Half Tax Due

2025 - Total Due

2025 - 2nd Half Tax Paid

2025 - 2nd Half Due

Property Address: 5916 CRANE LAKE RD, ORR MN

\$1,441.00

\$0.00

School District: 2142
Tax Increment District: -

2025 - 1st Half Tax Paid

2025 - 1st Half Due

Property/Homesteader: DANIELS, RANDALL R & GAIL A

	Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity				
201	1 - Owner Homestead (100.00% total)	\$43,100	\$287,300	\$330,400	\$0	\$0	-				
111	0 - Non Homestead	\$16,700	\$0	\$16,700	\$0	\$0	-				
Total:		\$59,800	\$287,300	\$347,100	\$0	\$0	3303				





St. Louis County, Minnesota

Date of Report: 12/20/2025 6:52:52 AM

Land Details

Deeded Acres: 20.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

 	9		- 1			,
		Improve	ment 1 De	etails (28X34 2	S)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
HOUSE	0	96	4	1,916	U Quality / 0 Ft ²	2S - 2 STORY
Segment	Story	Width	Length	Area	Found	lation
BAS	1	2	6	12	POST ON	GROUND
BAS	2	34	28	952	BASEI	MENT
CW	1	10	16	160	POST ON	GROUND
DK	0	0	0	539	POST ON	GROUND
DK	0	8	22	176	POST ON	GROUND
DK	0	12	28	336	POST ON	GROUND
Bath Count	Bedroom Cou	nt	Room (Count	Fireplace Count	HVAC
1.75 BATHS	3 BEDROOM	S	_		0	CENTRAL GAS

Bath Count	Bedroom Count	Room Count	Fireplace Count	HVAC
1.75 BATHS	3 BEDROOMS	-	0	CENTRAL, GAS

	Improvement 2 Details (36X44 DG)								
ı	mprovement Type	Year Built	Main Flo	or Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	GARAGE	1992	1,58	34	1,584	-	DETACHED		
	Segment	Story	Width	Length	Area	Foundat	ion		
	BAS	1	36	44	1,584	FLOATING	SLAB		

Improvement 3 Details (42X72 PB)							
	Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	POLE BUILDING	1982	3,02	24	3,024	-	-
	Segment	Story	Width	Length	h Area	Foundat	ion
	BAS	1	42	72	3,024	FLOATING	SLAB

Improvement 4 Details (NEW POLEBD)							
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
POLE BUILDING	2014	3,60	00	3,600	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	50	72	3,600	FLOATING	SLAB	

			improvem	ient 5 Dei	talis (20X30 CP))	
ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	CAR PORT	0	768	8	768	-	-
	Segment	Story	Width	Length	Area	Foundati	ion
	BAS	1	12	14	168	POST ON GR	ROUND
	BAS	1	20	30	600	POST ON GR	ROUND





St. Louis County, Minnesota

Date of Report: 12/20/2025 6:52:52 AM

		I managara	vicement C Det	-ile (CT)			
Improvement Type	e Year Built	•	ovement 6 Deta	• •	sement Finish	Stylo	Code & Desc.
STORAGE BUILDIN		14		144	-	Style	-
Segmen			Length	Area	Found	ation	
BAS	1	12	12	144	POST ON (
	<u> </u>		·-	(0 1)			
	V 5 11/	•	ement 7 Details	•	. =	0.1	
Improvement Type GAZEBO	Year Built	Main Flo		s Area Ft ² Ba	sement Finish	Style	Code & Desc.
				Area	- Found		-
Segmer BAS	nt Stor	y wiath 8	Length 14	112	POST ON (
BAG	·					SKOOND	
		Sales Reported	to the St. Lou	is County Audit	or		
No Sales informat	ion reported.						
		A	ssessment His	story			
	Class	7.0		,,	Def	Def	
	Code	Land	Bldg	Total	Land	Bldg	Net Tax
Year	(Legend)	EMV	EMV	EMV	EMV	EMV	Capacity
	201	\$43,100 \$16,700	\$274,400 \$0	\$317,500 \$16,700	\$0 \$0	\$0 \$0	-
2024 Payable 2025		' '	*	, ,, ,,	* -	*	
	Total	\$59,800	\$274,400	\$334,200	\$0	\$0	3,162.00
	201	\$41,700	\$280,900	\$322,600	\$0	\$0	-
2023 Payable 2024	111	\$15,900	\$0	\$15,900	\$0	\$0	-
	Total	\$57,600	\$280,900	\$338,500	\$0	\$0	3,303.00
	201	\$38,600	\$234,600	\$273,200	\$0	\$0	-
2022 Payable 2023	111	\$14,200	\$0	\$14,200	\$0	\$0	-
	Total	\$52,800	\$234,600	\$287,400	\$0	\$0	2,747.00
	201	\$30,100	\$202,700	\$232,800	\$0	\$0	-
2021 Payable 2022	111	\$9,500	\$0	\$9,500	\$0	\$0	-
ĺ	Total	\$39,600	\$202,700	\$242,300	\$0	\$0	2,260.00
		7	⊥ Гах Detail Hist	orv			
		Special	Total Tax & Special		Taxable Bui	ilding	
Tax Year	Тах	Assessments	Assessments	Taxable Land N			al Taxable MV
2024	\$3,285.00	\$85.00	\$3,370.00	\$56,539	6,539 \$273,755		\$330,294
2023	\$2,807.00	\$85.00	\$2,892.00	\$51,012	\$223,73	36	\$274,748
2022	\$2,545.00	\$85.00	\$2,630.00	\$37,494	\$188,51	88,518 \$226	





St. Louis County, Minnesota

Date of Report: 12/20/2025 6:52:52 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.